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1' (") Marks of stucrents in a crass for a particurar subject are given berow:
6,7,9, 15, 1g, 79,20,22,23,27,2g,30, il2, 34,36,3g, 39, 39,40, 50.
i' construct a box plot for the above data anl discuJs the skewness of the distribution

of marks. 
[3Ai**ksjii' Find the mean' median and mode of marks by preparing the frequency tabre with

the following intervals:

(0<x < 10, 10 <x < 20, 20<X s30, 30 <x < 40, 40<x <50)

(b) Three students (x, y, Z) foliowecl an special degree program and their -rraj:T:l
erages(GPA) in each year of study are given in the following tabie with corresponding
weights' An award will be given to the stude't who shows the highest weighted GpAat the end of the degree program. Find the student/students who is/are eligible forthis award.

Year of Stuciy 1 2 t
L) 4

Weights L0% bon 30% 40%

Student - X J.D 2.8 J,i 3.3

Student - Y 3.8 3.0 3.1 2.3

Student - Z 2,9 2.8 ard.d 3.8

[40 marks]



2' Wjth the intention of finding the relationship between two variables X and y, a st
collected the data given in the following table:

(u) By using a suitable measure, comment on the linear relationship between
Test the significance of rerationship at E% sig'ificance lever.

Fit a regression moclel of the form y : 0a * grX.

update the rnoclel after testing the significance of paramet ers Bs and p1

cance level.

(b)

(.)

(d)

(")

3.

Find the prediction error for X : 10.

Find the percentage of variation that covered this model.

(a) It has been found that success rate of a particular test for
pregnant women have been tested, what is the probability
women get negative results for pregnancy?

4

pregnancy is

that at least

at 5%

t40

i10
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70%.
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(b) An engineer responsible fbr the maintenance of a certain machine in a company

found that there will be 5 brealtclowns, on average, within a period of one month,
the probability that machine will breakdown at most 2 times in a week
Assume average breakdown is proportionai to the period.

[25

(c) Life time of newly introduced CFL bulbs is normally distributed with a mean 1ife

of 1000 hours and variance of 400 hours. If a butb is selected randomly, what is

probability ihat life time of that selected bulb is:

i. less than 950 hours;

ii. rnore than 980 hours;

iii. less than 1020 hours;

iv. between 960 and 1060 hours.

X 5 10 15 20 25 30 35 40

Y 11 19 33 38 D.J 65 7T 78



A company manufacturing milk powder that average weight of a milk powder tin is
4009' To check the claim, a student has collected a random sample of 5 miik power
tins from the company and has measured the weight that are 400g,420g,3g0g,4109
and 4059' Check the validity of the claim given by the manuf#turer at b% significance
level.

An institute has colrected the folowing marks (ranging from 0 to 5) from ll;::
pants' before and after the training program, with the purpose of testing whether the
training program is effective. Perform a suitable hypothesis test and give your conclu-
sion on the effectiveness of the training program at S%significance level, assuming that
the marks fbllow a normal distribution. I
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